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St (29 4 5
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All measurements are in centimetres.
x is an integer. The total volume of the
cuboid is less than 2000 ¢m3,
Showthatx < 6

Gack XXl = L2000

ABCH is a square.

HCFG is a rectangle

CDFE is a square.
They are joined to
make an L-shape.

N

12
a) Find an expression for the
perimeter of the shape.

b 412

5x + 4

a) Write down, in terms of x, an expression for
the perimeter of the triangle.

Bx® <L 200¢
i <2002 Show that the b) The perimeteris IO 473 a) Find an expression,
X2 280 otal are ofthe - | cm. Work out the - LIEKTIRL Y, ToPfie
All measurements are in centimetres. st Xl 'shage, m;m ‘75 | value of x. b) The perimeter of the triangle is 45cm, perimeter of the
The perimeters of these two shapes are the A b ? qal - — isx + 15x + 75. G i S /. \Wbek ButseAElue of m ‘ quadrilateral.
same. Work out the arexof the trapezium. . B . e ME’-SF/- B - I »—],
)§2-C = Lo t¥ C\3 e 1B - 6xx=20 / |0nc+3 = &S ‘
i X o i ,,Z-a xjf . X s =S 10 =642 b) The perimeter of the quadrilateral is 118 cm.
2o~ =8 = [0 . GEnT ¢ = (2 Work out the value of y.
G =t . G . .
K _:"g e P= 142 Py 11 12 1 ook b Ht} -3 =Ng
— 5x vl Il\j = {2}
2 3y S |
2x + 4 10 2 Y t’).::. I\
9 Algebra in 3 Iy %
3x 4+ 5 = 1% Scvw The diagram shows a square. All the lengths are Shapes a) Use this information to write down an

measured in centimetres.
Use an algebraic method to find the length of one side
of the square.

8

5x — 4

7

6

Lo by DR a) Find the value of x.

fo‘_ —_ (—k - S 2,:(: { jf{ = C+9C b Q{
G g i By V=22~ 9 a) Explain why
D = . 26 =2~ 3x+8=2x+27
A O TR i
b) Calculate the area of the rectangle. ch‘d’)@ WA
16slen ‘l(iO\cj\(L
2 N o | T ® Tuxo siad are eoed
GA XA = 6FAcm L XD QI copd
! ()"\\"\ g !’ G < g_ -
_ b) Calcu%fg‘t]ne p(ér(ir\nD“gtLeQrJofN ‘
2e 1T = U3 PRV o the triangle. ¢ 5 =2F
2x + 17 6stes g 7
,:%é;(}i i %S = - —
3¢ by SFIHE= 38 +27= 63
3x + 8 2x + 27
dx -9 3x $%

equation in terms of x.

Goe 420 =| 5O

4
5

A

b) Use your answer to part (a) to work out the

a) Use this value of x.

information to
write down an
equation in terms

of x. S + 216=3

Looe 20 = VEBS
S =150

x= 0\

/vedlings) ,
b) Work out the value of x.

2z = 30° a) Use this information to write down an equation in terms of x.
bx. +18 =360 oS F
. . ‘ 7: & Zi
3x+2¥ Lot = DL C’J}hl
| e BT

b) Work out the value of x.

2x + 10/




All measurements are in centimetres.
The perimeters of these two shapes are the
same. Work out the areXof the trapezium.

- lLl—?C fg

) $x-C

X

2x

All measurements are in centimetres.
X is an integer. The total volume of the
cuboid is less than 2000 ¢m3.
Showthatx < 6

Gk xxlt = L2000
B> <L 2000

X G e

(xts)4 S TS

aren X2 416129 1St
o =X %} Sx<

H.. s & D o=
5xt3% (29)[x 4+ 5

G T E

ABCH is a square.

HCFG is a rectangle

CDFE is a square.

They are joined to
make an L-shape.
Show that the
total are of the L-

xé\f—z‘i‘g

shape, in cm?,
is x2 + 15x + 75.

3x +5 = 1% Scvw The diagram shows a square. All the lengths are

5x — 4

S = &4 = ¥ S

2x -4 =S
2 He = %
o PN S
26111 =43
2x +17
3%
4x —9

measured in centimetres.
Use an algebraic method to find the length of one side
of the square.

8
7

Z

25428
15

12
a) Find an expression for the
perimeter of the shape.

b 4+\2

b) The perimeteris
42cm. Work out the

| O

b

5x + 4

a) Write down, in terms of x, an expression for
the perimeter of the triangle.

a) Find an expression,
in terms of y, for the

perimeter of the

Algebra in
Shapes

value of x.
Goe =4
b =30
o

2

3

4
5

6

a) Find the value of x.

2o+ T = Qo -
b= e
2E=2x
IR = e

b) Calculate the area of the rectangle.

3x+8

(31
9 a) Explain why
3x+8=2x+27
Becogse in en

1565l gn lfw\c“:)k{L

AXAY = | 6FFem +uxo SIAAD ase coped
SRS AW (The s L
_ b) Calcu&mtx he p(érlr\np“étléqfof

BN/ the triangle. ¢ {5 =2F

v C = |

6St6S+s72 2

=369 , :
S8 38 +27= 65

2x + 27

3x S*%

a) Use this
information to
write down an
equation in terms

ot o tal
/v lings)

=

b) Work out the value of x.

b) The perimeter of the triangle is 45cm,

Work out the value of x.

10O +3 = ‘ir*f’)r‘

”\j -7

quadrilateral.

10 =42 b) The perimeter of the quadrilateral is 118 cm.
j(: B Work out the value of y.
I | = { LN
o > J I\
4y — 5

equation in terms of x.

G=3%q

fesiw)
20°

3x+2(¥

2x + 10(

6:)& + 2 = 1 3G

a) Use this information to write down an

b) Use your answer to part (a) to work out the

value of x.

C)x, I8 =380 __S_Qi
Eond. o= BlLT2 C;J, Ty
e I
b) Work out the value of x.
x =ST°

GocC ¥340 = L &G

S = 1S5S0

o= 20\°

a) Use this information to write down an equation in terms of x.



